.................................. 100 ST 0]0 SRR 100
................................... 90 S ————) (| —————) (|
.................................... 80 SR < 0 crrreeree e . 80
.................................... 70 T ——— /() T — /()
................................... 60 SRR o1 0 SRR o1 0
.................................... 50 cerrorcrorerreTreronreorreecrrs ) R SR T ()
.................................... 40 T ————r] () T — ()
.................................... 30 srrTorrrorrTeTerCroTTOrTTeeCor oAl TR RTT R 3 ()
.................................... 20 R, () T —, ()
.................................... 10 crrrrrecronerreTercrrnrrerrreecoroad ) SRSy —"] ()
VIN'KRin VI'Kin VI'Kin

1

.2

.3



